—ER-RERE BN KER(Z) MR-
#3X B4 & 10241 A 148 10:10-12:00 T kX

A0, HHZ S HANR L,

1 (i) %an, = % n> 1. AR A i a, = 1,
(i) & f&—iR 4 HE, RIRT KEA|f
111 1
2. 5)%9 = {17 5)571}7 ff%Ql’ﬁ'ﬁ%%é\i%é\, P({UJ}) = Za Yw € Q2 o Z‘?\Xn(w) =
wHw e n>1,

- EE R,

(i) R —rv. X, 13X, -2 X,

(i) () F2 X, RKE X, — L X2 ERpay 4,
3. %X, A BOMBZNB(n,0) 2k, n>1, £ F0<0 <1,
(i) ##&Ha, #FX/n —L— a,
(i) XA o AR IR 2R, fE3nfk kb, P(X, <o) fl, 2 € R,

4. F{Xn,n> 11585, BX,2df 5

0 <0
Fn(l‘)—{ 9 x bl

1—--L z>0,

z+n’

(i) K& X, P L0,
n — oo

(if) 32087 #H () F 2{Xon > 1}, Su/n —L—= 0R 2 E? L ¥S, = 3L, X,
n>1,

5. %Xk, 1 <k <n, &iid UO,1)ptHhzrv’s, 56X, <X, <--- <X, &kLEH
BetE o HE-B R EERL RXE

(1) X, _P .0,

n — oo

(i) #Vp >0, X, —£ 0,

n — oo

6. & X1, Xo, - &iid CO, ) thzrvs, t >0, Xy =max{X;, -, X}, n>
1, &X#P(Xny/n<2) =< e ) x>0,



